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= 71,328
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= 4,500
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= 4,500
e 4,500
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= 2,500
s 2,500
01 5,000 4,800 200
el i
1,000, 000& *53| 5,000
= 2,500
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206 4,800 4,000 800
= 2,400
s 2,400
01 =8l 4,800 4,000 800
ZHARY A
240,000& x10& *23| 4,800
= 2,400
e 2,400
405 36,000 0 36,000
= 18,000
s 18,000
01 36,000 0 36,000
ul
36,000,000& =14 36,000
= 18,000
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SN 0lE22 D
HM: FENE =22
ol Sa AZMA Y RS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| o 18,000
Ss&SYs LMY XA 50,000 0 50,000
= 25,000
= 25,000
206 M = Hl 50,000 0 50,000
= 25,000
= 25,000
01 X Z H| 50,000 0 50,000
O Yols HHX& 41,750,000 41,750
= 20,875
= 20,875
Obl &y Sl XA 75ha*110,000& 8,250
= 4,125
= 4,125
SHZYols 22T 29 S 4,500 19,300 A 14,800
= 2,250
= 2,250
201 et 9| 750 3,150 A 2,400
= 375
= 375
01 AP 2t 2| bl 750 3,150 AN 2,400
Oddls 2 ZEH 50,000& *15= 750
= 375
= 375
206 M = Hl 3,750 6,550 AN 2,800
2 1,875
= 1,875
01 X2 Hl 3,750 6,550 A 2,800
O2&ET S 2 250,000& *15JH 2~ 3,750
= 1,875
= 1,875
SHSYals A &9 X 18,000 0 18,000
= 9,000
= 9,000
101 e1214| 9,000 0 9,000
2 4,500
= 4,500
04 JI2ZtHI22XNEES 9,000 0 9,000
OSX2 T L [Ss 2 oL
1,500,000 x1H 6 & 9,000
= 4,500
= 4,500
201 et 9| 5,000 0 5,000
= 2,500
= 2,500
01 AR 22l ] 5,000 0 5,000
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Ha: HINEG ) s23
ol S Al Dl (St &)
= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
Odgadls JHA HH KX 224
900,000 x53| 4,500
= 2,250
= 2,250
Oodadls oz 100, 000& *5& 500
= 250
= 250
206 M = dl 4,000 0 4,000
2 2,000
= 2,000
01 X2 bl 4,000 0 4,000
ogis o 2
0,000 x 105 23] 4,000
= 2,000
= 2,000
X222 HFHAY NKF(J=E22D) 2,678 2,678 0
= 2,678
206 M = dl 2,678 2,678 0
= 2,678
01 X2 b 2,678 2,678 0
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= 2,678
s Aldlzs AY 10,000 770,000 A 760,000
= 5,000
= 5,000
402 SI2FXHE0| ™ 10,000 770,000 A 760,000
= 5,000
= 5,000
02 SI2t X2 AHS 10,000 0 10,000
OREEHS 0|28t L2 ME g I8
=AY 10,000,000& » 1Al 10,000
= 5,000
= 5,000
UXNS2O0F AlY 66,670 8,000 58,670
< 25,000
= 41,670
402 SI2tXHE0| ™ 66,670 8,000 58,670
= 25,000
= 41,670
02 QIZXIE2AIE E X (0| HTH & 66,670 0 66,670
OLNEE A MA MEFA
66,670,000& x 14! 66,670
o 25,000
= 41,670
sH=sE A 41,500 20,200 21,300
201 et | 4,700 6,600 A 1,900
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ol Sa AZMA Y RS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OH =Xcl Mg A MDD AIEAY
5,000,000& *3H 2= x60% 9,000
Ozgd |RIIE 2IHE NBAMY
1,000, 000 & *6ha*60% 3,600
O =Ml &€ |RII2 Ma AIEAMS
5,000, 000& *3nha*60% 9,000
405 XHobF S HI 5,000 0 5,000
01 HatL EZSFH S 5,000 0 5,000
O&3I34dH ALRI1D 2
1,000,000& 58 5,000
sSHASHE JIsEs 1,194,740 1,286,620 291,880
= 120,000
Xl 312,500
< 22,500
s 739,740
NEESHS |54 20,500 20,000 500
201 Let249] 6,700 9,900 A 3,200
01 At 22/l 6,700 5,700 1,000
OASHS A2=X 2| 1,000
OEst&a = Jle2a &X AF 700,000 63 4,200
OSAE JIgE23 M= MZE 500,000 33! 1,500
202 Odl 3,000 3,000 0
01 = LH 4 bl 3,000 3,000 0
OASH=2 SZXA 3,000
206 M= Hl 5,000 5,000 0
01 M2 8l 5,000 5,000 0
SS&ES ANYEE 2% sHM 2L
200,000& »25& 5,000
301 L2 A S 3,300 2,100 1,200
09 &AL HI B &S 2,100 2,100 0
OSst&a = Jlae2s #XAHE FAT Al
7,000& *300H 2,100
MIIEEd=3 1,200 0 1,200
SsA=Z Jls2as X A& 2 A
200,000%63| 1,200
405 XHoHE S HI 2,500 0 2,500
01 et EZFH S 2,500 0 2,500
OEXE=E Jthllct el x 2
2,500,000 *13 2,500
NEsHASANEEZ(L) 22 20,040 25,000 A 4,960
101 @144 dl 6,000 8,000 A2,000
04 JIZHHZ2XEES 6,000 8,000 A2,000
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OXNTSsHAUSANERE 2F URY
600,000& 10& 6,000
201 ¢er24] 3,000 3,000 0
01 At 22l 3,000 3,000 0
ONHSHASAEE 29 4507 2
100,000& 308 3,000
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
ONASAMSAEE 29 W7
200,000 208 4,000
405 XtatE SHI 7,040 0 7,040
01 AR ESFH S 7,040 0 7,040
O=ss0t =228 Hs2H) 7Y
3,300,000+ 1CH 3,300
O=£0 23228 HSHCE 2
3,740,000+ 1CH 3,740
MII=2SAlYg &5 229,200 360,000 A 130,800
402 RI2HXt20l ™ 229,200 357,000 A 127,800
01 212t 2 AL E = (REM ) 229,200 357,000 A 127,800
OKRFHsS0IE Pt A X 2F MY HY 24,000
O3 OFMEZF Tofd 2 10,800
O JI&dTHolithis & 2a2e|
1,000, 000& *10ha*60% 6,000
ODHX HEAD THHHE X =4
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O20I X+ THEHEFX &AL 30,000
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20,000, 000& »2H 2= «60% 24,000
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80,000,000& =1 2= «60% 48,000
OFAMN ZSIoioe AAs 23
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[ia 120,000
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OstenI BRIE =4 = JisE2=2 MY
60,000,000& =14 60,000
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A Jlz=E220
HM: FENE =22
2 sPASHY JI==22 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
S2=0F ZOE AMEHIX =4
25,000,000 =14 2~ *80% 20,000
& 7,500
= 12,500
MASHES HP 930,252 986,540 N 56,288
ANSEINE AlIE§Z 2229 123,900 586,540 AN 462,640
101 e1214| 30,000 172,000 A 142,000
04 J|12ZtHIZ22NEES 30,000 172,000 A 142,000
OAESEZ A2 o182 15,000,000 x2H 30,000
201 LBt | 27,900 57,700 A 29,800
01 AP 22| H| 13,400 37,700 A 24,300
OAEE 29 s 22 20,0008 *x30E x4 3] 2,400
OAEEZ 228 &g=s 2 200,000& =104 2,000
OANESIZE TE U AI2A OHLHE X2
100,000 x10= 1,000
OANEXZ e WMAHE 10,0002 *60H *23| 1,200
OAEZ 2229 22| 7,000 x4H x100 2,800
OAMNRA HS Sctole 200,000& *20JH 4,000
02 232%H4| 14,500 20,000 A5,500
OAMEINY HE SSH| (AR A!)
1,000,000 304 & 3,000
Odt2A 89 2 sS1Is4s 54|
1,000,000 404 & 4,000
OsJIH=2E & I AXE8 54|
500,000& 504 & 2,500
OAS&EH |A ¥ 2% 500,000& *103] 5,000
202 o4 H] 2,000 2,000 0
01 2Ll 2,000 2,000 0
OANE8MNY gRF4A 2,000
206 M = H| 40,600 239,000 A 198,400
01 X2 H| 40,600 239,000 A 198,400
OANEZE 29 MY 2,500,000& *10&] 25,000
O=EE I ZTHM M=
2,000 *3,0000H 6,000
OME o128 A% L W27
120, 000& 205 x4 3| 9,600
401 Al HI L 2 0HHI 9,000 115,000 A 106,000
01 Al& H| 9,000 115,000 A 106,000
OANEEZ WNRE A g3 A
5,000,000 =14l 5,000
ONBE +8FA B4 o Cu
4,000,000 x4l 4,000
405 KHoHFE S HI 14,400 0 14,400
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 14,400 0 14,400
OANEZE 3t&4 Hiol+ 400, 0003 *4 4! 1,600
o2k JIZEX 7¢ 800,000& *6H 4,800
OsUE pH,EC EFDII1D 7¢
2,000,000& *2H 4,000
OFI==2d AdII ¢ 500, 000& =8H 4,000
Paz 22U HOI32 =4 425,600 0 425,600
301 L2 A S 25,600 0 25,600
06 212toI= 2l 4l 25,600 0 25,600
OXNSYEH L RITHY BHs XA
3,200,000 »8H 25,600
401 A& HIZ 201 I 400,000 0 400,000
01 A& HI 398,560 0 398,560
O=oAd2ZX, dXN2H0tIE Z0I3H
T HEAZ 398,560,000 398,560
03 A& S THHI 1,440 0 1,440
Oa=oA2&X, dAXZHOHIIE HO0IZ2H
ZTHEAS 1,440
2= Matze] 380,752 0 380,752
101 @144 dl 80,000 0 80,000
04 DIt Z2XREES 80,000 0 80,000
OFBAS(X23R )M oY
2,000,000 »8H «501 & 80,000
201 £B-2%H| 6,000 0 6,000
01 At 2t 2l 6,000 0 6,000
OZZAE (XS F )M S| 1,000
O=3std4ES st AIZEHIRA
1,000,000& *53l 5,000
202 o4dl 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
OZ2=g 27 3,000
206 M= Hl 170,000 0 170,000
01 =8l 170,000 0 170,000
OZAAS (=R )M HEFY
17,000,000& 1035 170,000
401 AIEHI L 2 CHYI 121,752 0 121,752
01 A& HI 121,752 0 121,752
O=3tdisS 28t 2HHIAIAE AlM
20,000,000& »14! 20,000
O=3std4sS 28t ASotRA BIIIAIA
1,288m x79,000& 101,752
HYR2IZH (DI=22D) 31,836 0 31,836
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25 I8

H: HH2IAHOI=E3H)

Sl Il = Al (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl= &l 31,836 0 31,836
Jls22 J1=23l 31,836 0 31,836
201 Let24d] 12,636 0 12,636
01 At 22/l 12,636 0 12,636
O 0ol &t 10,109
O= &l S04t 2,527
202 odl 16,200 0 16,200
01 = LH o4 1l 16,200 0 16,200
O=U0oitl
(100,000& * 12 x12& +3,600,000& ) *90% 16,200
203 YR =] 3,000 0 3,000
04 FN2ILSF=AH 3,000 0 3,000
OJIzsE2=l 2A2Y 250,000& =122 3,000
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